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QUESTION 1

Identify what is wrong with this statement: "If | have 4 SOAP-based Web services, | must have 4 WSDL definitions and
4 XML schemas." Select the correct answer.

A. SOAP-based Web services don\\'t use XML schemas for their WSDL definitions.

B. WSDL definitions can share the same XML schema and can also link to multiple XML schemas, so stating that 4
SOAP-based Web services must have 4 XML schemas is incorrect.

C. Each WSDL definition must have at least 2 XML schemas, so the correct amount of required XML schemas in this
case is 8.

D. There is nothing wrong with this statement.

Correct Answer: B

QUESTION 2
Which of the following statements is true? Select the correct answer.

A. An initial sender is at the beginning of the message path, whereas the service consumer is at the end of the message
path.

B. An intermediary service transitions through the initial sender role when it invokes another service provider.

C. An initial sender is the service consumer at the beginning of the message path, whereas the ultimate receiver is the
service provider at the end of the message path.

D. An initial sender is not related to the message path but is instead a part of hybrid service component composition
sequences.

Correct Answer: C

QUESTION 3

The HTTP protocol can be used together with SOAP-based Web services and REST services. Select the correct
answer.

A. True
B. False

Correct Answer: A

QUESTION 4

A WSDL document defines a series of , each of which represents a function that a SOAP-based
Web service is capable of performing. Select the correct answer.
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A. operations
B. namespaces
C. extensions
D. types

Correct Answer: A

QUESTION 5
When designing REST services within a given domain, you establish that are represented by
unique identifiers, usually in the format of . Select the correct answer.

A. resources, HTTPs/HTTPSs
B. mashups, HTTPs/HTTPSs
C. resources, URLs/URIs
D. mashups, URLs/URIs

Correct Answer: C
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